
Find the 9th term from the end (towards the first 
term) of the A.P. 5, 9,13,185.
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For what value of k will k + 9,2k -1 and 2k + 7 are 
the consecutive terms of an A.P.?
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How many terms of the A.P. 18,16,14,… be 
taken so that their sum is zero?
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How many terms of the A.P. 27,24,21,… should be 
taken so that their sum is zero?

UNIQUESTUDYONLINE.COM 



Solution:

UNIQUESTUDYONLINE.COM 



The 4th term of an A.P. is 
zero. Prove that the 25th 
term of the A.P. is three 
times its 11th term.UNIQUESTUDYONLINE.COM 
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The sum of three numbers in A.P. is 12 and sum of their 
cubes is 288, Find the numbers.
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The fourth term of an A.P. is 11. The sum of the fifth and seventh 
terms of the A.P. is 34. Find its common difference
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The 14th term of an AP is twice its 
8th term. If its 6th term is -8, then 
find the sum of its first 20 terms.
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The 13th term of an AP is four times 
its 3rd term. If its fifth term is 16, 
then find the sum of its first ten 
terms.UNIQUESTUDYONLINE.COM 
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An arithmetic progression 5,12,19,… has 50 terms. 
Find its last term. Hence find the sum of its last 15
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The first and the last terms of an AP are 5 and 45 
respectively. If the sum of all its terms is 400, find its 
common difference.
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Find the number of natural numbers between 101 
and 999 which are divisible by both 2 and 5.
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Find the number of all three-digit natural numbers 
which are divisible by 9.
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The 8th term of an AP is equal to three times 
its 3rd term. If its 6th term is 22, find the AP.
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